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(B FM)

e B fHIERIDEE| 4 IE %8 &t HWEEOEGTAR
1 H i 4,725,370 4,725,370
2 M K E 5 42,000 9,559 51,559
3 XM F B X M £ 5,000 A 54 4,946
4 B OB B K &£ 4,000 14,486 18,486
5 HMAZBERSIXAL 1,000 9,856 10,856
6 WMAHEBRXMTE 280,000 12,188 292,188
7 BERERGEHRXMTE 7,000 1,134 8,134
8 A B X MF & 10,000 3,448 13,448
9 W K X fF 1 6,858 6,859
10 RBEREHFEHIXFE 4,500 283 4,783
H 2#EERVEES 292497 A 1,024 291473| #xuERREELES
12 FRAMRTFHN 64,245 A 40 64,205| B3R BE RN
13 E X & £ 988,752 A 12,902 975,850 | thiE ML - g E REZERAXERME
14 B 53 H & 549,759 A 618 549,141| METHERBETEI ALY —SHARHNS
15 Bt E 1 A 16,830 16,830
16 = B & 2,253 2,253
17 # A & 442,849 442,849
18 #& it id 262,927 262,927
19 & 1 A 103,315 150 103,465
20 HT & 120,000 120,000

m A& F 7,922,298 43,324 7,965,622
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(B FM)
& B fHIERTOEE| i IE %8 H HEREDELASR
1 & = b= 96,814 96,814
2 % & 910,752 A 1,050 909,702| #LERMBEHEIC L BHRAEE
3 R & = 2,469,752 2,469,752
4 & 4 & 504,027 504,027
5 3 & i 2,136 2,136
6 = K K E ¥ & 141536 A 1,379 140,157| RE£mBEEXERELTLMBE
VA -] T & 36,552 98 36,650 HEME - £EXERXMAE
8 = P N E= 1,292,081 1,292,081
9 H i & 241,447 241,447
10 % B i 870,176 870,176
m K F # 1B # 1 1
12 2 & b= 668,636 668,636
13 & * € 683,388 45,655 729,043| MBARESZHEIS
14 % i & 5,000 5,000
moH A 7,922,298 43,324| 7,965,622




